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A thermodynamics system is said to be an isolated system provided : [30 sec]
(A) Matter can be added and not heat

B) Heat can be added but not the matter

© Both matter and heat can be added or removed

D) Both matter and heat cannot be added or removed

Which of the following is an intensive property of a system ? [30 sec]
(A) Heat capacity (B) Enthalpy © Surface tension (D) Volume

The work done on gaseous system is 12 J and also 20 J of heat is added to it. The change in internal energy
of the gaseous system is : [45 sec]
(A) 8J (B) 321] © 12 D) 201

Two moles of ideal gas undergoes isothermal reversible compression from 20dm® to 5dm® at 300 K. The
work involved in this process is : (Given log2 = 0.301) [60 sec]
(A) -6.92kJ (B) 6.92kJ © —-3.46kJ D) 3.46kJ

An ideal gas undergoes isothermal expansion from the volume V; to V, against a constant external

pressure. It is then subjected to isothermal reversible compression till it attains its original state. For the

entire cyclic process, which of the following facts hold good ? [60 sec]
(A) AU =0 and w =0 B) AU =0 and w >0
© AU =0 and w <0 D) AU >0 and w >0

If an ideal gas undergoes adiabatic reversible change of state from (p;, V;, T;) to (p,, V,, T,), then which

of the following statements is correct ? [60 sec]
A)  pVi=pV, (B) p V! =p, V]
© p/Ti=p/ T, (D) Vi/T=V,/T,

If T, and T, are the respective final temperatures of a gas undergoing adiabatic reversible and irreversible

expansions from the volume V; to V,, which of the following facts holds good : [60 sec]
(A) T,>T, B) T,<T, © T,=T, D) VT =V|TJ
Which of the following statements is not correct ? [60 sec]

(A) First law of thermodynamics is also known as law of conservation of energy

3B) Work done by an ideal gas undergoing expansion against vacuum is zero

© Vibrational contribution to heat capacity of a gaseous molecules is effective at low temperatures
D) q, and qy are state functions
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A process will be spontaneous at all temperatures if : [60 sec]
(A) AH <0 and AS>0 B) AH >0 and AS<0

© AH <0 and AS<0 D) AH >0 and AS>0

Two moles of an ideal gas is expanded isothermally and reversibly from 1 litre to 10 litre at 300 K.
The enthalpy change (in kJ) for the process is : [60 sec]
(A) 11.4kJ B) —11.4kJ © 0kJ D) 4.8kJ

A piston filled with 0.04 mole of an ideal gas expands reversibly from 50.0 mL to 375 mL at a constant
temperature of 37°C. As it does so, it absorbs 208 J of heat. The values of q and W for the process will be :

(R=8.314J/mol K, In 7.5 =2.01) [60 sec]
(A) q=+208J, W =-208] (B) q=-208J, W=-208J

© q=-208J, W=+208J (D) q=+208J], W =+208]

AU is equal to : [60 sec]
(A) Isothermal work B) Isochoric work

© Isobaric work D) Adiabatic work

For the process : H,O(l)(lbar,373K) - H,O(g)(1bar, 373K), the correct set of thermodynamic

parameters is : [60 sec]
(A) AG =0, AS=+ve B) AG =0, AS=-ve
© AG=+ve, AS=0 (D) AG =—ve, AS=+ve
1 mole of a monoatomic ideal gas at T K undergoes adiabatic expansion under a constant external pressure
of 1 atm from 1 L to 2 L. The final temperature (in K) would be : [120 sec]
T 2 2
A — B T+—— (C T D T-———
W ®) x00821 ® 3%0.0821
Which of the following lines correctly show the temperature dependence of equilibrium constant K, for an
exothermic reaction? [120 sec]
J 3 A
In K
" ,/ B 1
(0,0, .~ T(K) -
c
"D

(A) Cand D B) AandD © A and B D) Band C



Answer

2 3 4 5 6 7
C B B B B B
10 11 12 13 14 15
C A D A D C




	Chemistry Live Quiz-16 Questions.pdf (p.1-2)
	Chemistry Live Quiz-16 Answer Key.pdf (p.3)

